1934 fe=
th Day

e 3y It srredl ( Tenses ) # ferarsii & U g™ g1 Gidgd iR
Togd AT # mu= usaraes arat Kt T oft B &1 = sy aaen
Hehd g foh 9ahRTeh ( Assertive ) arerl @t ustar=eh ( Interrogative )
I1eRT 99 o AT 31Tueh! et et Ut 82 ofmu= 93t &hredl ( Tenses ) &
graeh feharsii ol arers # a9 uge FTer Usiareh arer - g1 (1)
31 oY = ST fh AehRIeds ( negative ) areRT ha =4 &1 area A
do, did, is, are, was, were, have, had, will, would, shall, should,
can, could, may, might 3nfe forareii & 1Y not SiteT SITaT €, 399
dhRIcHS a1l 994 &1 ( 2 ) =g & do not, did not, were not, have
not, can not, will not, shall not, should not, would not enf¢ ura: @
Y 3T g, foheg e A Sifdepar wfdre =t a1 wah giar g, Sit shwen:
S UHR g: don't, didn’t, weren’t, can’t, won’t, shouldn’t, wouldn’t
i1 39 et forgs a e d 41 &u uafad €, do not &t avg @
3R don’t <t =g Tfére oft1 ST3U, Ikt ST 1|

ThRTcH a1l ( Negative Sentences )



EEEE IR

I do not know. 313 g iz .

l.
2 A % & o I don't ask anything. 375 1= 37k uffem,
3. % Fei TEl st She does not come here. ¥t 251 Ale #4 feam.
4. q& =@ T T TGl She doesn't know how to make tea, I 2= 1 83 T % 31,
5. @l 399 99 Tal @ I He did not miss the bus yesterday. &1 fes 7fe faa g a9 precet
6. T I8 TETER TR AL | We haven't heard this news. =t #9= &2 f@ sl
7. 33T AE € It's not cold today. 328 Tz H1eE T2.
8. 9% W VGIYE Tl ¢ | She isn't married. ¥ 5= #fte.
9. 39 g9 o Tl &1 We are not late today. 91 3T A @ 22,
10. =2 faeet # =& ot She wasn't in Delhi. ¥t &= 37 Seiel.
|1, &9 ol 781 g We didn't attend the lecture. df feg= 37ds g o
12, 3TF SR TR B She doesn't have a son. It S 8 31 4.
13. 73 fagt 7 foeft I didn't get the letter. 318 feg= 72 g &=,

14. 3% qIE HaI TRl ot

15, =J=ust =, fadmst TR 77 g
16. Taar St set =X 9T T 2ii

17. & et <0 71 gt

They didn't have a conveyance. 2 feem &3 a1 9T,
Don't worry, father won't be angry. BI= a4, HIgt ar= &t Ui,
Father won't be at home tomorrow. gt a1= & U2 &4 A
We shan't (shall not) be late tomorrow.
af = (¥ie Af2) &t o2 gE.
18. § e arefea T2 9o g&dn| I can't ride a motor cycle. 31§ FT=< TS 3 HiT Trsfawa.
19. 319eh! 379 qumqﬁaapﬁ You must not drive the car on the footpath.

afew | Y 7R Al 3R T FR A T T4,
20. ¥ grEl g9a W &l w9 |

[ couldn't reach in time day before yesterday.

3G Fe= 19 7 e fawn 4w,

2. T Rl WA F SEIE T ¢ You needn't go there. ?{\?"Tﬁfﬁi‘éﬂ'{.

22, &I gue T8 | No problem. 7 WietH.

23, 379 gH YA gHM &g &l Now we shouhln'l close our Rh('l[).jhl‘lllld we'!
ifEu A1 M3 &t Y[E= acr e Ui, e 4q?

usarl JehRTedh a1el ( Interrogative-cum-Negative
Sentences )

1. 3fOSH # It's hot today, is'nt it- ‘37T St THT g, AT?’ 1Y@ It’'s not cold
today, is it? ‘3ITST &€ &l &, A1?’ 39 dg & ITRI 9gd Udferd €1 38 il
Tail Questions TETSTIAT &1 A AT & A A BI¢ A U oh TUH W|d &1 afe
JTreRl gehRTcHS gidT g, dI Tail Question ThRIcHS 8T &, Si8—It’s hot
today, isn't it? (SRET areT 26, 28) 3R Il g, ThRIHS gidT g, dt Tail
Question YhRIHS BT §, 59 — It is not cold today, is it? (¢RI arer
27, 30)1

2. TR o Uget W H ¥gieh fehat (helping verb) & AT not gerek AT e
g9 &l Tetd 8, S¥— is not, isn’t. T=] Tail Question & isn't 3¢ Hfe




&Y gt 31fdh AT 8, Je! U: U<h gid 81 39 i & arerat & sig wefiorifa
A Gohd B
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39.
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42.
43,

ot St T & A
q fawt €, & 7
g e 4,
el aam g, & =7

&Y Weal AR €1 S, ® 912
3 77 Fit T @ |, € 2.
el H qren WY TE g, & 2

T ued fre g% €, @ A

T 371 H qErd e
o), & AM?

T W for e el g @, &
Hieft 1 & | 7 e afen, & 02

Ay &1 12 o 9 STavd arEn
F =fen, & 02

IHA 3T el ddt €, @ 2

qu R e T B, ® 2

e =afe 999 @0 &1 6, & 7

T% 39 o8 S 9 T8I F! =AM,
Ean

faham wgmae d@ew &, ® 2

9 977 #1954 A 393 7,
a7

A2 SRl T AR o A, # A
Az e 27 |} 9, 7 A7

BT ST A9 F T yea, & 2

Itis very hot today, isn't it? 32 3 91 812 8, 3= 322
They are foreigners, aren't they? 3 3T Hifs, 3= 27

You weren't pleased, were you? g a= W5, & Y?

1t will be Sunday tomorrow, won't it?

g2 fae & 9= Zui, 9= 327

We'll be ready soon, won't we? e st {&1 g7, g 4t?

[ can never forget it can [? 378 ¥4 & BT 2, Fq a9z ?
1 Won't be with you tomorrow, will I?

amg dr= &t fag g g=i, faa ame?

We have met before, haven't we? 3 88 T2 fawi, ga= 412

You had finished your work, hadn't you?

7 ¢e frfave an a&, Te= 7?

You couldn't find the book for me, could you?

4 PSR FES 3 TH WA, FS Y2

Meenakshi shouldn't go to bed late, should she?

Hiedl g M g 9% e, yS M2

Amitabh must wait till 12 O'clock, mustn't he”

s e A2 fral ziea o Fel, T A

She hasn't learnt English, has she? ¥l &5 o= gnfer, &9 97
You can speak English, can't you? g %A Tt gfietel, = g7
Great men don't waste their time, do they?

2 A eI 4% 33 2TEH, g 12

You should not talk like this, should you?

g g[S e I wg fam, Y 7?2

How pleasant it is, isn't it? ¥T3 @iwie 32 39, 392 327

You think yourself to be very clever, don’t you?

9 i drde® T &t oft acer, Sl g2

She will reach here soon, won't \he‘?ﬁﬁﬁﬂﬁﬁiﬁ{'{f{ = wi?

She reached home late again, didn’t she?

7 s g9 o 374, fes= w?

We never forget our childhood, do we?

Jt Fat wIOE WA ARTSEs, g a2

g1 & ( Remember )

A




A. 3T H §© Hg<h sl & IfEed &Y (Short forms) e # 3rdd
Tafeld €, 56 Sl d felRgs ohl 31Ty hifSIg:
do + not = don’t

does + not = doesn't

did+ not = didn't

is + not =isn't

are + not = aren’t

was + not = wasn't

were + not = weren't

has + not = hasn'’t

have + not = haven't

had + not + hadn't

will + not = won't

shall + not = shan't

can + not + can’t

must + not = mustn’t

could + not = couldn't

need + not = needn’t

would + not = wouldn’t

should + not = shouldn’t

B. n't forms & n TR & Gahd (‘n’) &t Apostrophe @gd &

B
Tail-Question aTet aral & & fAuiardf S & ofd &1 37! Tep a1y
TRUT hHifSIg:
| did—didn't I?

He is— isn’t he?

We are— aren’t we?

He was—wasn’t he?

You were—weren't you?
They had—hadn’t they?
We can—can’t we?

You will—won't you?

| shall—shan’t |?

| must—mustn’t I?

You would—wouldn't you?




She could—couldn’t she?

She does not— does she?

You do not—do you?

31§ 3T 1YY hifoIT;

| am— I'm 311gH

We are— We're dt'3R

You are—You're g '3

They are— They're ¢'3R

He is—He’s 8I'ST

She is—She's 2ft'S

gt UhR ¥ | have, you have, she/he has & foIq I've 3113’ 4, g'314q,

<ft.’ST/8Y.'ST U1 We have 3R They have & folT We've d1'31@, They've ¢'3
37TfE T THT BT B




